
lim
x→1

x4 − 3x+ 2

x5 − 4x+ 3
.






ẋ = x− y − z,
ẏ = x+ y,
ż = 3x+ z.

|z + 2i|
|z − i| ! 2,

z i

y =
4

x
x = 1 x = 4

x2 + y2 + z2 − 12x+ 4y − 6z + 24 = 0, 2x+ 2y + z + 1 = 0.

Q q

Q =




3 + q 3 −6
3 1 −2
−2 1 1 + q



 .

α α



xn = cos
⇡n

2
·
✓

n

n+ 1

◆n

, n 2 N.

a

8
<

:

x2y � 4x� 4xy + 16p
8� y

= 0,

y = ax

1X

n=1

1

x2n + 1
, x 2 R.

r sin2('/2) = 1.

Z

|z�1|=2

tg z

z
dz, z 2 C

|z � 1| = 2

~x {~e1, ~e2, ~e3}
~x = (0, 0, 1) ~e1 = (1, 1,�1) ~e2 = (1, 0, 1) ~e3 = (1, 1, 0)

x(t) [0, T ]

x00 + x = u, x(0) = 0, x0(0) = 1, x(T ) = 0,

u u 2 [�1, 1] T > 0

A B
1 ↵ �

�!
AB

A = B A
t = 2/3 B t = 2



xn = sin
⇡n

2
·
✓
n+ 1

n

◆n

, n 2 N.

a

8
<

:

3y2x+ 6xy � 4y � 8p
4 + x

= 0,

x = ay

1X

n=1

x2n

x2n + 1
, x 2 R.

r2(sin 2'+ cos 2'+ 2) = 8.

Z

|z+1|=3

z ctg z dz, z 2 C

|z + 1| = 3

~x {~e1, ~e2, ~e3}
~x = (1, 0, 0) ~e1 = (0, 1, 1) ~e2 = (1, 0,�1) ~e3 = (�1, 1, 0)

x(t) [0, T ]

x00 � x+ u = 0, x(0) = 1, x0(0) = 0, x(T ) = 0,

u u 2 [0, 2] T > 0

A B
1 ↵ �

�!
AB

2 A
t = 1 B t = 1/3



lim
n→∞

xn lim
n→∞

xn

xn = cos
πn

3
+

√
4n2 − 2

n+ 1
, n ∈ N.

a "l{3 + a, 2a}
−→
BL B(−1,−1) A(1, 0) C(2,−7) BL ABC

λ ∈ R

f̂(λ) =
1√
2π

+∞∫
−∞

f(x)e−iλxdx

f(x) =
e3ix

4
√
x4 + 2

.

M(1, 1)
R2

x3 + y3 + xy = 3.
∑
n∈Z

cnzn

w =
1

z2 + 2z

z z0 = 3

X

(
1 −1
−1 3

)
·X =

(
2 1
0 1

)

x(t) y(t) t ! 0

{
x′ = x+ 1,

y′ = 2x− y,

{
x(0) = x0,

y(0) = y0.

(x0, y0) x(t) y(t)
lim

t→+∞
x(t) lim

t→+∞
y(t)

!
!
!
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"
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"
""

!

!

#
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y
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3x

3x

4x3x y
3x

4x
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lim
n→∞

xn lim
n→∞

xn

xn = sin
πn

4
+

√
9n2 − 5

n+ 3
, n ∈ N.

a "l{3a, 2 − a}
−→
BL B(2, 2) A(0, 6) C(8, 5) BL ABC

λ ∈ R

f̂(λ) =
1√
2π

+∞∫
−∞

f(x)e−iλxdx

f(x) =
e2ix√
x2 + 1

.

M(−1,−1)
R2

x3 + y3 − xy = −3.
∑
n∈Z

cnzn

w =
1

z3 − 3z2

z z0 = 4

X X ·
(

1 −3
−1 1

)
=

(
−2 4
0 −4

)

x(t) y(t) t ! 0

{
x′ = x+ 4y,

y′ = −y + 1,

{
x(0) = x0,

y(0) = y0.

(x0, y0) x(t) y(t)
lim

t→−∞
x(t) lim

t→−∞
y(t)
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!

!

"

y

#

#

"

x

x

xx y
x
V = 45π 3
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x
y



lim
n→∞

xn lim
n→∞

xn

xn = tg
π + 2πn

4
− 3n− 1√

n2 + 2
, n ∈ N.

a "l{2a, a − 4}
−→
BL B(1, 1) A(−1,−2) C(7,−3) BL ABC

λ ∈ R

f̂(λ) =
1√
2π

+∞∫
−∞

f(x)e−iλxdx

f(x) =
eix

6
√
x6 + 3

.

M(1,−1)
R2

y3 − x3 + xy = −3.
∑
n∈Z

cnzn

w =
z2

z − 4

z z0 = −8

X

(
−3 1
−1 1

)
·X =

(
3 2
1 0

)

x(t) y(t) t ! 0

{
x′ = x− 3y,

y′ = 2y + 1,

{
x(0) = x0,

y(0) = y0.

(x0, y0) x(t) y(t)
lim

t→+∞
x(t) lim

t→+∞
y(t)
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!

!

!
!
!

!
!
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"
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